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Part-A -
Prove Pascal's Rule; rper s Rig S
n + n = n+4l 1€r<n
c C c
r r-1 r

Prove that; Rig iR

F,F, ---F_ =F_  where W& Fn=2"+1]
Solve: &1 PIfA:

9x = 31(mod 30)

Define Euler's ¢ -Function.

AR § —Bar B GRAI T |
Show that: ﬁ@?ﬂ?’zﬁ f&:

. p"q;u- pn-"’ Q2

Define complete Quotlent ool ARTGer 1 IR ST |
Find the situation of the roots of the equation.
FAYHIT B gt B Raafd s BT |

P 4x-2x-1=0

Sum the series: AT ST HfeT: -

If afe x <1,
+2x+ 33+ A5+ ... +10
Il{cm;\ < the fractional coefficient of the following equation-

et gieRe @ F=TeTe gmmasrﬁﬁﬁmqaﬁm—
X -—;—x +21—1-O

By Vedic method solve: Wﬁﬁmﬂﬁaﬁﬁq
2x+3y=8

dx + 5= 14 Part-B

i of 275 and 200 and express itin the form 275x + 200y.
I;U';(;tgingc:o 0 @1 ged T PIAT T T 275x + 200y & 9 ¥ e

HfAg |
Solve the system of lincar congmcncc:*\'ﬁw TN e 1 g PR

x = 2(mod3)
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x = 3(mod 5)

x=2(mod7) . .
Convert 28/23 into a simple continued fraction and find the succes-
sive convergents.

28/23 B W Rad i § waraRa AT IR -FHS IRRR
IS s BT .
Solve the equation 27x* + 42x? - 28x - 8 = 0, the roots being in GP.
STAIBROT 275 + 42x2 - 28x - 8 = 0, P12t TG Tl o1 Jolrer S HE |
If the equation x* + ax® + bx? + cx + d = 0 has'three equal roots, show
that each of them is equala to:
(6¢- ab) / (3a?-8b)
given that 34° -85 # 0. o
TR BRI x* + ax® + bx? + cx + d = 0 D G 7 W B 3 Rl
& 9AS & B T &
(6¢ - ab) / (3a°- 8b)
RIE& 342 -850,
:  Parts-C

Unit-I ,
If n is even. show that n (n? +20) is divisible by 48.
afE n w9 L @1, @ n (n? + 20), 48 A AT &1
Prove that (Rig i)

(e

OR :
Two integers are congruent modulo m iff they leave the same remain-
der when divided by m and conversely. . _
3 QUI® o sregel m ¥ AR I m A AT ] R T I96A
gt 9 ¥ aen Rema: 4l - .
Solve Diophantine equation:
x+2y+3z=1
m:igmsﬂmmﬁ %y +3z=1 B EA DT

' Unit-II
Calculate the successive convergents of the following:
oy & SARRR APERS T AT
1 11 1 1 ' -

+5+1+2+9+3+ - .
Find the n® term and sum to n terms of the following series:

-----------

fyer AR BT nail 9K 991 n 92 @1 AR 9 AR
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14+ 2x+6x2 4200+ 66X +212X° +......cocoe
(@) Evaluate - 99 19 HIfow -
11111 11

T+14+2434+1+24+3+ _
(b) Find the n™ term and sum to n terms of the following series-
=1 o @ 0l 9% 1 n &1 &7 AR T BT |

x=4+

3
——=+2+0+8+..........
2 +

Unit - I
18. (@) Find the condition that the cubic: .
X’ - px* + qx - r=0, should have its roots in H.P.
YT N 92 I qary el 9w e i 7 2
X! - px* + gx - r=0, should have its roots in H.P.
(b) Solvethe equationx® - 15x - 126 = 0, by Cardan's method.
. IR P - 15X - 126 = 0, B B R | g D]

‘ OR
@) If-a,pB.r bethe rootsof the cubic x* + px? qx + r=0, find the value of
the following symmetric functions:
R a, B,y AT ° + px? gx + 1 =0 S o1 & A P11 iy werti
HHE A BT - o
1 i -
d ﬁ)za2ﬂ2 s
R ‘Bz_i_y:']
@ 2[ Br ).
(b) Solve the following system of equations b .
y Vedic
1 iR fem o ' iR Ry amaﬁtﬁsxethm
4x-2y+3z=8 N
2x-3y-z=1
3x+2y-z=3
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